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Exercice 1

Réduire chacune des expressions littérales suivantes :

A=(-5z—6)—5-Ta
B=—-8z—-T7)+6+8x
C=8x+10+(2x2-9)

Exercice 2

Réduire chacune des expressions littérales suivantes :

A=(-bzx—-8)+7—Tx
B=(-32+7)+2z—2
C=—-6—-(10x—6)+4x

Exercice 3

Réduire chacune des expressions littérales suivantes :

A=—-09x—-6)+3x+7
B=-5+Bz+7)+6z
C=-2+(-3z+1)+6z

Exercice 4

Réduire chacune des expressions littérales suivantes :

A=—(-92—-6)—10x +8
B=-3+(-92+3)+2z
C=—(Tx—6)+3—-9x

Exercice 5

Réduire chacune des expressions littérales suivantes :

A=2(-2z+9) -3z
B=—(82—10)+7x—5
C=-5+42+(2x+2)

Exercice 6

Réduire chacune des expressions littérales suivantes :

A=—-(10x—-6)+10—-9z
B=-104+8z—(-72+9)
C=—-4z+(-bzx—-8)—4

Année 2023/2@245://%7»&%. toupty.com/exercice-math-4eme-soustraire-expression-paranthese.html

D=8—(—2x+3)—8z
E=—(2z+2) —2-3z
F=—-8+10z—(z+9)

D=—(Tx—1)+6+4x
E=—-6x+4—(42+38)
F=—-6—-(-6x+6)—4x

D=10z+7—(5bx —4)
E=3-4z—(x—9)
F=—(8z+10)+10+ 7z

D=—(-5x+5)—-9—4z
E=dz—4—(3z+7)
F=42+ (6z+10) -8

=8x—8)+9+6x
4z —(~8z+7)—9
=-8+3zx—(—8x—4)

D
E
F

D=-10z —3— (—102 +9)
E=(10x+4)+6x—4
F=3-9z—(-5x+7)
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